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¬

+H\�DOO�

¬

/DVW�WLPH�ZH�VSRNH��ZH�WROG�\RX�WKDW�ZH�ZHUH�EULHÁ\�FORVLQJ��KRSLQJ
IRU�RQO\�WZR�ZHHNV�����EHFDXVH�WKHUH�ZDV�VR�PXFK�XQNQRZQ�DV�WR
ZKDW�ZDV�FRPLQJ�RXU�ZD\�ZLWK�&RYLG�����:H�KRSH�WKDW�\RX�KDYH
VWD\HG�KHDOWK\��VDIH��DQG�VDQH�VLQFH��DQG�FRQWLQXH�WR�GR�VR�DV
UHJXODWLRQV�JUDGXDOO\�UHOD[�DURXQG�0DVVDFKXVHWWV��RU�ZKHUHYHU�WKLV
PHVVDJH�UHDFKHV�\RX��9HU\�VDGO\��ZH�DUH�KHUH�WR�WHOO�\RX�WKDW�7KH
7DEOH�DW�6HDVRQ�WR�7DVWH�KDV�FORVHG��)RU�WKH�UHVW�RI�WKH�OHWWHU��ZH
DUH�QRW�JRLQJ�WR�IRFXV�RQ�WKH�ZK\��EXW�RQ�WKH�ZKR�DQG�ZKDW�

¬

:H�MXVW�ZDQW�WR�WDNH�WKLV�WLPH�WR�SHUVRQDOO\�WKDQN�DOO�RI�\RX�
%HFDXVH�RI�\RX��RXU�OLYHV�ZHUH�LQÀQLWHO\�EHWWHU�WKHQ�WKH\�VKRXOG
KDYH�EHHQ��,I�DQ\�RI�\RX�KDV�HYHU�ZRUNHG�LQ�D�UHVWDXUDQW�EHIRUH�
WKHQ�\RX�NQRZ�KRZ�UDUH�LW�ZDV�WR�EH�SDUW�RI�D�WHDP�WKDW�JHQXLQHO\�
DQG�LQ�WKH�WUXHVW�VHQVH�RI�WKH�WHUP��FDUHG��&DUHG�DERXW�KRZ�\RXU
IDPLO\�ZDV�RU�DERXW�\RXU�PRVW�UHFHQW�YDFDWLRQ��&DUHG�DERXW�\RXU
IHHGEDFN�RQ�ZHLUG�DVV�ZLQHV�RU�GLIIHUHQW�IRRG�H[SHULPHQWV��&DUHG
DERXW��ZHOO��\RX�¬

¬

:H�FRXOG�RQO\�FDUH�DERXW�\RX�EHFDXVH�ZH�FDUHG�DERXW�HDFK�RWKHU�
:RUNLQJ�LQ�D�SODFH�OLNH�WKLV�MXVW�GRHVQ·W�KDSSHQ��0DNLQJ�WKHVH�W\SHV
RI�IDPLO\�FRQQHFWLRQV��OLIHORQJ�IULHQGVKLSV��LW·V�MXVW�VSHFLDO��DQG�ZH
JRW�WR�OLYH�WKDW�HYHU\�GD\�ZH�FDPH�WR�ZRUN��DQG�DV�PRVW�RI�\RX
NQRZ��WKH�RQO\�ZD\�DQ\�RI�XV�PRYHG�RQ�IURP�7KH�7DEOH�ZDV�IURP
PRYLQJ�RXW�RI�VWDWH�RU�D�FDUHHU�FKDQJH��/LVWLQJ�WKH�SHRSOH��WKH
PHPRULHV��WKH�VWRULHV��WKHUH�LVQ
W�HQRXJK�WLPH�LQ�WKH�GD\��DQG
FKDQFHV�DUH��LI�\RX
UH�UHDGLQJ�WKLV��\RX
YH�SUREDEO\�KHDUG�LW�EHIRUH�

¬

%XW�ZH�IHOW�WKH�VDPH�IURP�\RX��:H�ZHUH�VR�EORZQ�DZD\�ZKHQ�ZH
UHDOL]HG�WKDW�WKH�ZRUN�ZH�SXW�LQ�ZDV�EHLQJ�XQGHUVWRRG��DSSUHFLDWHG�
DQG�ORYHG��:H�FRXOGQ·W�KDYH�EHHQ�KDSSLHU�FHOHEUDWLQJ�ELUWKGD\V�DQG
DQQLYHUVDULHV�ZLWK�\RX��ODVW�GDWHV�EHIRUH�JLYLQJ�ELUWK�DQG�ÀUVW�GDWHV
DIWHU��%ODFN�6HD�GLQQHUV�RU�MXVW�DQ�RUGLQDU\�:HGQHVGD\�QLJKW��$QG
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WKH�JLIWV��WKRXJK�FRPSOHWHO\�XQQHFHVVDU\��DOZD\V�OHW�XV�NQRZ�\RX
FDUHG��DQG�PRUH�LPSRUWDQWO\��WKDW�\RX�MXVW�JRW�XV��7KH�JHQHURVLW\
\RX�VKRZHG�ZKHQ�WKH�SDQGHPLF�KLW�ZDV�EH\RQG�FRPSUHKHQVLRQ�
HDVLQJ�SHUVRQDO�ÀQDQFLDO�SUHVVXUHV�GXULQJ�DQ�LQFUHGLEO\�XQFHUWDLQ
WLPH�¬�¬
¬

/HWWHUV�DUH�XVXDOO\�HDVLHU�WR�ÀQLVK�EHFDXVH�WKHUH�LV�VRPH�OHYHO�RI
FHUWDLQW\��:H·G�OLNH�WR�VD\��´:H·OO�VHH�\RX�VRRQ�µ�EXW�LI�ZH�GR��LW�ZLOO
EH�VRPHZKHUH�RWKHU�WKDQ�WKH����VHDW�VSRW�ZH�FDOOHG�KRPH�IRU�RYHU
IRXU�\HDUV��-XVW�NQRZ��DV�DOO�RI�XV�WDNH�WKLV�QRZ�SHUPDQHQW�EUHDN�WR
ÀJXUH�RXW�RXU�QH[W�VWHSV��LQ�WKH�UHVWDXUDQW�ZRUOG�RU�EH\RQG��\RX
YH
KHOSHG�SURYLGH�XV�ZLWK�D�VHQVH�RI�DFFRPSOLVKPHQW�WKDW�LV�VR�GLIÀFXOW
WR�DFKLHYH�LQ�WKLV�ZRUOG�¬

2XU�VHQWLPHQW�IURP�WKH�ODVW�OHWWHU�KDV�QRW�FKDQJHG��:H�ORYH�\RX��ZH
DOZD\V�ZLOO��DQG�ZH�HDFK�WKDQN�\RX�IURP�WKH�ERWWRP�RI�RXU�KHDUWV�IRU
KHOSLQJ�XV�WXUQ�LQWR�ZKDW�ZH�EHFDPH��:H�FRXOGQ·W�KDYH�GRQH�LW
ZLWKRXW�\RX�

¬

[R[R[R�

7KH�7HDP

&RS\ULJKW��������7KH�7DEOH�DW�6HDVRQ�WR�7DVWH��$OO�ULJKWV�UHVHUYHG�

2XU�PDLOLQJ�DGGUHVV�LV�
�����0DVVDFKXVHWWV�$YHQXH�&DPEULGJH��0$������

:DQW�WR�FKDQJH�KRZ�\RX�UHFHLYH�WKHVH�HPDLOV"


